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u@# - 1/PART - 1
@iy 1) e 8 oy af arr Amgrn b i ofa_ aieflgsoyn, (12x1=12)
2) QarPaminn’ . pravg oferaafla) i8sch opyai_ur ofaafaar
Cars QaRds @S P oSa_ufaaruh Coiggy 0P BRI,
Note: 1) Answer all the guestions.
2) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
senganam 4pmem_apnie aghes swwlengy

&) ke wiHm edgn

8) vy wipoHd

Impulse is equals to

a) rate of change of movement
¢) charge of momentum

&) eSens wHOID a1y wrppelzn
n) Hep slp wippw

b) rate of force and time
d) rate of change of mass

2. Qlun gy aunuy wrHeSulicn wHiy
&) 3.81 ) Cunev 1 K! 24) 8.03 ] Guongo ' K!
§) 1.38 ) Goner 'K ! ) 8.31 ) Gunso ' K-
The value of universal gas constant
a) 3.81 Jmol 'K"! b) 8.03 Jmol 'K !
c) 1.38 Jmol K™ d) 8.31 Jmol K
3. sfflwsagdear g60@
&) N ewuTL_ gt o) Ayl
£) Qualarged ) Bemeu siemen s gid
Unit of radio activity is
a) Roentgen b) Curie
c) Becquerel d) All the above
4., 1 Cuorev enmrggetr sigmalen Hlenp
S|) 28 amu o4)14 amu
@) 28 & Cm) 14 8
Mass of 1 mole of Nitrogen atom is
a) 28 amu b) 14amu
c) 28g d) 149
5. @ussscema e mansss Camalin®b (paduwrar e Gonsnd
1) Ag =) Hg &) Mg ) Al
is an important metal to form amalgam
a)Ag b) Hg c)Mg d) Al
6. aflenpnub seug g Bivssamyesn. BfHQiamam aggameisn #paigb
&) 95.5% =) 75.5%
®) 56.5% ") 45.5%
Rectified spirit Is an aqueous solution which contains about of ethanol
a)95.5% b) 75.5%
c) 55.5% d) 45.5%
7.  Bgoeppd B pemCupdpg

) vsivassdilon

8) yppCands giewen
Kreb's Cyde takes place in
a) Chloroplast

¢) Somala

&) @G nanesr flwnellsn oL sapio G fldan
) enwlGnansu flunaledr a. L paseus

b) Mitochondrial Matrix
d) Inner mitochondrial membrane

(i0-omemwn-1 )
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Bmupenen Hyponenas srewiu@ibd Hib
&) sevn Mooy
) amism
Bipolur neurons are found in
a) Retina of eye

) Qumepensts yrerfl
) seune aflgeSlwid

b) Cerebral cortex
d) Respiratory epithelium

c) Embryo

ossnd gian@amm gaprs Beaemwiug?

=) QapeiGasv ) \g.6160m.67 LneSlnGren

8) syr.een.a Gempof ) Ig.61601.61 601G 6M

Okasaki fragments are joined together by.

a) Helicase b) DNA polymerase

¢) RNA primer d) ENA ligase

Qgned e WiITh ugautiseflan arvgans SPw 2 gayb HPHS (POD

31) CrngCuin anffuen (e =) wGreeflud snflu (penm

8) QurlLrflwib gyisnen (penp /) 9 HOID B

The bestway of direct dating fossils of recent origin is by

a) Radio-carbon method | b) Uranium lead method

¢),Pottassium-argon method d)bothaandc '

LeErGarwed aearugl Ber Grmil a@nqu@gm QuDD THD &L
3)) sy <) Cmed

8) sleoLiuwm /) w&sTEGemend

Pusakomal is a disease resistant variety of ,

a) Sugarcane ’ b) Rice

c) Cowpea ' d) Maize -

2 05 Lensuwleneo sty Semb ‘

) Gw 31 : =) e 6

8) gured 22 r) &EGLmum 2

World *No Tobacco Day’ is observed on ;

a) May 31 b) June 6

c)April22 : d) October 2

LS - 2/PART - II

by amaCugyh gup Somssesie oL waflssao.

afarr s1oor.2286¢ sl L rub afaL weaflssayb. . (7x2=14)

Note: Answerany 7 questions. Question No.22 is compulisory.

13.

14.

suneod eenr Heoflpora CarempAn.
Why does the sky appear in blue colour?
sappu: LED aSens@ae gaflmd Blerafleny aﬁlmm@tsmm el ApLs gl
aryamn; LED efené@aer geflpb Wenafleny eﬂma@smm ol @empeanen
el penea [{&(HLD
&) sappl LODID snyed rem@ib #f Cugb aryewrnd SaDnIsE sflwnen eﬂmum

&p) BaD D! WHQILD S1TETLD Gratn@id ofl. yenned anrevnib SahpidE sMwner eflerasiosoen
8) sapp sflunang s eomed anremd #flween

) SaD[D SUDTENE LLEMME SNTeRTD sflwnerg,

10- gyflaSuc-2
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Assertion: LED bulbs are far better than incandescent bulbs
lal)e;\fs;:t - LED bulbs consume  less power than in candscent bulbs
€ assertion and the reason are true and the reason is the correct
explanation of the assertion
b) If both the assertion and the reason are true but the reason is not the correct
explanation of the assertion

C) If the assertion is true but the reason is false
d) If the assertion is false but the reason is true
#fir? geime? Sy i) s piflsncns S 5 ois.
D yep CLrefluib 239 Qeneayée oL L@EID QuTh e (G
2) i@ et 836 G Quppison eflohissT sEGESM Beovemelln®, oL LED
State whether the follo wing statements are true or false, if false correct the
statement.
1) Plutonium 239 is a fissionable matenal
2) Elements having atomic number greater than 83 can undergo nuclear fussion
16. - sargeney sseisd - suenFwml.

Define volume percentage. '
17.  Qauflene o wisgib Qurups o elememlsr Geausibd sflafadlngl. gen?

Why does the reaction rate of a reaction increase on raising the temperature?
18. epellenentey - euenrwpy.

Define triple fusion.

15.

19.  Clurgssgs. 1) epemen F 1) LEmom
2) ApRrsb - <) Galisoyy,ed
3) @swid - 8) epemenr e empaen
4) menruired - ) Cuflaniiquib
Match the following. 1)Brain - a) Pleura
2) Kidney - b) Capsule
3) Heart ¢ Sie ¢) Meninges
4) Lungs - d) Pericardium

20,  Gumedigm eTEMDED 6T6MIEN? Hi60G 6TLILIG Qam;nmasmns ma@aﬁl&&s\)nm?
What is bolting? How can it be induced artificially? f
21. Qsnr@&suu’_(sTen Lu_g@s\)
' A, B, C, D g élw unsmsener
SEML_WIMETLD &HITETTaYLD.
Identify the parl’s A, B,C D
, in the given figure. .
22. 110Q dergenLujsten QeuingGCLprl 220 Vtﬂmmq:pgggmg QUDIQ!Dﬂ s1exflen g6t
' DeCenmi_L S 5é  srevus.
How much current will an electric heater coil draw from 220V source, if the resistance of
heater coil is 110Q?

‘ u@$ - 3/PART - III
Suy: aenaiCugyd aap demssepsie aloL waflssayp.
1 afarr s16991. 328 s rund e¥eor_weaflssas. 3 (7x4=28)
Note: Answer any 7 questions. Question No.32 is compulsory. '
23. flemevwod ETATLIZ WISI? S CUMESHET WNeneu?
Define Inertia? Give its classification.
24. fegevL a6 WHpID Beir sS85 a6t gy Awaipenn CaupuBssis.
 Distinguish between the resistivity and conductivity of a conductor.
25. 1) OpLLewev ETETTMMEV 6TETTEU?
2) QeeSjeworit godlullst flitCleuetor sTsmenr?
1) What is longitudinal wave?

2) What is the audible range of frequency.
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wing sgedlenp  sempugy

Defind - Ralsthve Ahovmte My

anb e Blerfine afpud ord o R A A o maeRne  adve @ vh 81 mne
1) .t ’\"“«mu}“»“ Afend DY anad saoia Wi g O

3 Salaas sl&mi 4y ares®ysd g Jorr eng(d Y an ey @ L)
Clavaity the foliowing substances into deliguesant, hyaroscopk

1) Con Sulphunic Ackd 2Y Copper Sulphate Penta Hydrats

D Sihcage 4) Catchum Chioeddde  and §) Cypsum Salt
veamaafag®on wenniemy ofakf

Explain the @ructure of chioroplast,

nmspadmende e W QarBepn . Lol mben (wadls g i@ na ()
Discuss the impartance of biotechnology in the fiedd of medicine.

Feaulprn opudammag ahaa CiopLareigub prQossfiama

B Qg RENRRENMR B 1A

What precautions can be taken for preventing heart diseases?

A anwena LwEUB &g aE pEEOAR W]

What are the advantages of using biogas.

10048 £fied 258 sisamrmua amogs @ amgen gurflaauuPAng. Ho
aarQurmeflen Depepaiagmpa anana.

A solution was prepared by dissolving 25g sugar in 100g of water. Calculate the mass
percentage of solute.

u@®® - 4 /PART - IV

@iy gy gy afarSsepsew afal weflssao.

Camauman B_miseflQ) Ln_id aops. (Ix7=21)

Note. Answer all the questions. Draw the diagram wherever necessary.

S3.

) Sensullan swarun_ e Nyl eflar Qe alfgpan smel.
(ydegy)

&) SI@Eam o0 aapied aaer? gat Rarfluenweg uraniaaflen

Qewsrunr@esnen alaflss.

a) Stae and prove the law of conservation of linear momentum
(OR)

b) What is a nuclear reactor? Explain its essential ﬁarts with their functions.

o) eug e aulle) o madl Yfigsma alaufl.

() Y
&) amibys snflefimbel aGaeIe) aean () swrfldasou@ang?
a) Explain smelting prdcess.

(OR)

b) How is ethanol manufactured from sugarcane?
&) Buppw ampred asma? osppder u@@a Qua@aiama aladl,
(SOVg)
&) weghi Colbling seowiiaa adaang Heogsg Bt e gomn afatldas
Ced:dng?
a) What is blood? Write the components of blood and explain,
' (OR)

b) How does rainwater harvesting structures rechange ground water,

[ Nm\hl\l\um q )
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